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Paper 1MA1: 1F 
Question Working Answer Mark Notes 

13 343 P1 for finding area of one face eg 294 ÷ 6 (= 49) 

P1  

for ξ“Ͷͻ” (=7) 

P1 for ³4�´ î ³7´ or IRU ³7´ î ³7´ î ³7´ RH 

A1 cao 

Paper: 1MA1/3F 
Question Working Answer Mark Notes 

12 (a) Yes 
(supported) 

M1 

C1 

method to find volume of one cube, eg 2 × 2 × 2 or 23 (= 8)  or draws a solid of 6 cubes 
Yes with supporting evidence eg 2 × 2 × 2 = 8, 8 × 6 = 48 

(b) (i) cuboid drawn  B1 

(ii) 104 or 88 M1 
A1 

either a 1 by 6 by 1 cuboid  (2 cm by 12 cm by 2 cm) 
      or a 2 by 3 by 1 cuboid (4 cm by 6 cm  by 2 cm) drawn 

ft for finding areas of 3 or more faces of their cuboid and adding 
for 104 or 88 

Q1

Q2
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Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

11 600 cm3 M1 for a complete method to find the volume eg 4 × 10 × 15 

A1 for 600 

B1 (indep) cm3 

If extra steps are shown do not award this 
mark 

Ignore incorrect or absent units for this 
mark 

Ignore incorrect or absent numerical answer 
for this mark 

Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

11 160 M1 for 8 × 5 × 4 

A1 cao 

Q3

Q4
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Paper: 1MA1/3F 
Question Working Answer Mark Notes 

16 (a) 40 P1 

P1 

P1

A1 

 (b) explanation C1 

for the start of a process to find the number of boxes that will fit along one edge, eg. 
240 ÷ 40 (= 6) or 150 ÷ 30 (= 5) or 140 ÷ 35 (= 4) 
or 240 ÷ 30 (= 8) or 240 ÷ 35 (= 6.85… ie 6 boxes), etc. 
or for a process to find a volume, eg. 40 × 30 × 35 (= 42000)  
or 0.4 × 0.3 × 0.35 (= 0.042) or 240 × 150 × 140 (= 5040000)  
or 2.4 × 1.5 × 1.4 (= 5.04) 
NB: condone incorrect or no conversion between m and cm 

for a complete process to find the maximum number of boxes, 
eg. “6” × “5” × “4” (= 120) or “5040000” ÷ “42000” (= 120)  
or “5.04” ÷ “0.042” (= 120) 

 (dep on P1) for (their number of boxes) ÷ 3, eg. 120 ÷ 3 (= 40)

cao 

for explaining that it could take more time or it could take less time with an 
appropriate reason, eg. “less space means less number of boxes which will take less 
time”  
or “it will take more time since a different arrangement would be required” 

Q5
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Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

26 280 P1 

P1 

for starting to use Pythagoras to find the missing side  
eg  8.42 – 7.22 (= 18.72) 

for a complete process to find the missing side 
eg  70.56�51.84  or ξͳͺǤ͹ʹ (=4.32....) 

P1 

P1 

A1 

(dep P1) for a process to find the area of the triangular face 
eg [length of base] × 7.2) ÷ 2 (=15.57..)  
OR the volume of the cuboid 
eg [length of base] × 7.2 ×18 (=560.7..) 

for a complete process to find the volume of the prism 
eg  “15.5..” × 18 or “560.7..” ÷ 2  

answer in the range 278 – 281 

Award P1 for a correct Pythagorean 
statement eg x2+7.22=8.42  

4.3 truncated or rounded can imply P2 

Uses a figure they show as the length of 
the base of the right angled triangle but 
dep on P1 
Allow 15.57.. truncated or rounded if 
unsupported

If an answer is given in the range 278 to 
281 but then incorrectly given to 3 sig fig 
this mark can still be awarded. 

Q6
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Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

29 No 
(supported) 

P1 Could be an addition of any three faces eg 48 + 
48 + 144 etc.  

P1 

for finding the area of 3 or more faces of the cuboid and adding 
eg (6 î 8) + (8 î 18) + (6 î 18) … or ³48´ + ³144´ + ³108´ … (= 300) 

complete process to find surface area of cuboid, 
eg 6 × 8 × 2 + 6 × 18 × 2 + 8 × 18 × 2 (= 600)  

P1 [surface area] must come from the addition of at 
least three attempts at area, but not from volume. 

P1 

for process to find side length of 
cube,  
eg [surface area] ÷ 6 and square 
rooting (= 10) 

(dep on previous P1) for processes 
to find volume of cube and 
volume of cuboid,  
eg [side length]3 (= 1000)  
and 6 × 8 × 18 (= 864) 

for a process to find the volume of 
the cuboid 6 × 8 × 18 (= 864) and 
cube rooting (= 9.52…) to find a 
side length 

(dep on previous P1) for process to 
find surface area of cube,  
eg. (³9.52…´)2 î 6 (= 544.28…)  

A1 No with 1000 and 864 OR No with 600 and 544(.28…) 
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Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance  

Q7

Q8
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Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance  
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IRU�FRPSOHWH�SURFHVV�WR�ILQG�FRYHUDJH�QHHGHG�IURP�HDFK�WLQ��
HJ�³������´���î���·���� ���������
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0D\�EH�VHHQ�DV��ʌrð�
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$FFHSW�QXPEHUV�ZLWKRXW�ZRUNLQJ�ZULWWHQ�WR�QR�
OHVV�WKDQ��GS�
'R�QRW�DZDUG�LI�D�YROXPH�KDV�EHHQ�XVHG�DV�SDUW�
RI�WKH�FDOFXODWLRQ��

$Q�LQGHSHQGHQW�PDUN�IRU���î���

>WRWDO�VXUIDFH�DUHD@�PXVW�FRPH�IURP�WKH�DGGLWLRQ�
RI�WZR�DWWHPSWV�DW�DUHD��EXW�QRW�IURP�YROXPH��

&OHDU�VWDWHPHQW�WKDW�WKHUH�LV�not HQRXJK�SDLQW�
VXSSRUWHG�E\�FRUUHFW�ILJXUHV�IRU�FRPSDULVRQ��
1%������q��� ���WLQV�QHHGHG�LV�LQDFFXUDWH�
��RU������WLQV�LV�VXIILFLHQW�ZLWKRXW�UHVWDWLQJ�WKH����
����P��LV�VXIILFLHQW�ZLWKRXW�UHVWDWLQJ�WKH���
EXW������DQG����DUH�QHHGHG�IRU�FRPSDULVRQ��
$�VWDWHPHQW�RI�³1R����WLQV´�DORQH�JHWV���PDUNV�
ZLWKRXW�VXSSRUWLQJ�ZRUNLQJ��

Q9
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Paper: 1MA1/1F 
Question Answer Mark Mark scheme Additional guidance 

27 450 M1 Ignore units 

M1 

for 18 ÷ 3(=6) 

for substitution eg. 75 ൌ ி
"଺"

   or  75 × “6” 

A1 cao 

Paper: 1MA1/1F 
Question Answer Mark Mark scheme Additional guidance 

25 12 P1 for a process to find the area of cross section, 

2
1

 eg 750 ÷ 25 (= 30) oe or × 5 ൈ h oe 

May use any letter for h or may use ? 

P1 for a correct equation in h,  

eg 750 ÷ 25 = 
1
2

× 5 ൈ h oe or 
1
2

× 5 ൈ h × 25 = 750 oe   

or for a complete process to find h, 

eg. 
750 2
25 5

u  oe or “30” × 2 ÷ 5 

A1 cao 

SC B1 for answer of 6 if P0 scored 

Q10

Q11
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Paper: 1MA1/1F 
Question Answer Mark Mark scheme Additional guidance 

26 Shown M1 No marks for x = ξ6ߨ without any 
working. 

M1 

M1 6 × x2 = 4 × ʌ × 32 

x2 = 36ʌ ÷ 6 
x = ξ6ߨ A1

for a correct expression for the area of one face of the cube, eg. x2 
or a correct expression for the surface area of the cube, eg 6 × x2 

for a correct expression for the surface area of the sphere, 
eg 4 × ʌ × 32 (= 36ʌ) 

for forming a suitable equation, eg 6 × x2 = 4 × ʌ × 32  or  6x2 = “36ʌ” 

 for completing the method to x = ξ6ߨ or k = 6 

Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

24 Yes 
(supported) 

P1 

P1 

P1 

C1 

for a process to find the volume of 1 tank  
eg ʌ î 402 î 160 (= 804247.7« or 804.2...or 256000ʌ) 

for complete process to find the volume of 4 tanks,  
[volume of tank] × 4 
eg ʌ î 402 î 160 î 4 (= 3216990.8« or 3216.9... or 1024000ʌ) 
or for process to find volume of fertiliser available per tank  
eg 32 × 1000  ÷  4 (= 8000) 

for a process to find the amount of mixture for 1 tank 
eg [volume of tank] · 101 (= 7962.8...) or 4 tanks (= 31851.3«) 
OR 
for a process to find volume of mixture that 32 litres of fertiliser will make 
eg 32000 × 101 (= 3232000) or 32 × 101 (= 3232) 

for Yes supported by correct figures shown  
eg a comparable figure in the range 31.8 to 31.9 (litres) 
or in the range 31800 to 31900 with 32000 (cm³) 
or in the range 3216 to 3217 with 3232 (litres) 
or in the range 3216000 to 3217000 with 3232000 (cm³) 
or in the range 7958 to 7963 with 8000 (cm³) 

Could be truncated or rounded 

For this mark [volume of tank] must 
come from a calculation involving ʌ, 
r2, h 

For this mark [volume of tank] must 
come from a calculation involving ʌ, 
r2, h 
or be stated as their volume 

There are other possible pairs of values 
which can be used in the comparison 

Q12

Q13


